6.1B Percent Patterns

Find 10% of the following amoum‘s:
1) 10% of $30=%%.00 : 0% of $12 = #(.20
2) 10% of $20= %2.00 5) 10% of $15.70 = % (.91
3) 10% of $60 = ®|p. 00 6) 10% of $250= #0.29
Find 20% of the following amounts: oouble 0%\
7) 20%of $30= ¥ (.00 0) 20% of $12 = $2.4D
8) 20% of $20= ¢4.00 11) 20% of $15.70 = ¥3.14
9) 20% of $60 = #2.00 12) 20% of $2.50 = #0.5d
Find 5% of the following amounts:
13) 5% of $30= #1.8D 16) 5% of $12= %0.0O
14) 5% of $20= %|.00 17) 5% of $15.70 = #0185 % #0.7
15) 5% of $60= 43 .00 18) 5% of $2.50 =40 .25 & ¥0.\3
Find 30% of the following amoum‘s:
19) 30% of $30 = 44.00 22) 30% of $12=%2.(00
20) 30% of $20 = 4 .00 23) 30% of $15.70 = $4.7|
21) 30% of $60 = $|€.00 24) 30% of $2.50 =%0.715
Find 15% of the following amoum‘s. —_
25) 15% of $30 =$3+%|.6D=34.5D 8) 15% of $12 =#%(.20+%0.00O=%1.D
26) 15% of $20 = %2 +$|=*%3.00 29) 15% of $15.70% ¢|.57+%04 % $2.3
27) 15% of $6O =8p+82=%9.00 30) 15% of $250,’v" #0,25 D"&-ﬁ'
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Find 50% of the following amounts:

31) 50% of $30 =415.0D 34) 50%of $12= %0.00
32) 50% of $20 = €10.00 35) 50% of $15.70 = $7.8H
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33) 507% of $60 =€20.00 $2.50 = $\.26

‘,'Jl L -
How could you find 607%? o
SAmvpes: 509+ 0%
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